
5.5 Combining Individual demand
curves to obtain the market demand

curve .

3 consumers : ABC To find total
9- intercept demand

,
add

Qa=2O -

P F- 20 demand curves
Qp= 50 - ZP P=25 horizontally .
Qc=G0 - GP 10=10
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3 consumers : ABC To find total
g- intercept

QA=20 - p p=z◦
demand

,
add

demand curves
Qp= 50 - ZP P=25 horizontally .
Qc=60 - GP 10=10

p
when P > 10,

Qtotal __QAᵗQB=70-3p
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3 consumers : ABC To find total
9- intercept demand

,
add

Qa=20 - P F- 20 demand curves
Qp= 50 - ZP 10=25 horizontally .
Qc=6O - Gp p=1o
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70-310=-10+10

80=410

2 Q=totzo-
✓ pectoris

Qa= 20 - P Qp=O

Qp= 50 - ZP QB ? / 0

Qc= 60 - Gp Qc :D


